ELECTRICAL CIRCUITS 2 - CLASS NO. 4 (19.03.2024)

AIR-CORE TRANSFORMER
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Ut - primary voliage

Tn - primary  cutrent
Uy - secondary volfage
Ty - secondary cuntent

the primary side the seconday side 2. ~ lgad impedance
(+he inpat side) (+he gutput side)
¥ equations

Reln + dwlals - juaMIy = U
Qalo + joolaly -juMls + Z0=0

% equations (open-citcuited output), Z,-c0, Ja=0

QaIy + jwleds = Us
-JwMIs= Uy

% equations ( Short- circuitéd O(dpu‘;), 220, Us=0

0T+l T - M=
by ¥ywlay - jwMp = 0



PROBLEM #1

The aiv ansfotmee was connected. fo the voltage  spuice E. Coleulate Hhe veadings of
o) amheter, 0) volfmeter, comectéd to the termingls of +he Secanda,y winding,
E=300V, k=08, Ra=R9= I, Xz Xg= 4o

I Q) ammeter - short citouit in the 50C0NdQy Hinding
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b) voltmetex - open citeutt in the secondary pindings , T.=04
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PROBLEM #2

fov the citauit below delemine the esults of measurements.
E- 1?)0", RP XLQ:XM: 40L/l, QQ:SJI, Rgf)(,_p le:-wlﬁ.

Roels +3%u Jo~3%uI= €
Rads H5X1yTo )X+ KLy 45 X =0

0143907, 3401, = 30
5L 4101 -j40 11 +203 +20L= 0

(10420) s + (~j40) Jo = 230
C0) s + (25430) 12 <0

b= 0 gise00 = (584-j .00)4
_Hy 32309 :
=0 Tosnsaen (2.62-5029) A

Q= Rel £ % |- e [130-(521-]8.00)T= Re[ 1336.3-54990] < |1336.3 U |
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Uva =[] = | (RatXis) Lo | = | (204120)-( 269-50.89) |- | 68.8 4 %| =



